[image: image1.png]Figure 1 shows a low-power high-gain input stage of an audio amplifier. The DC
collector currents are small, of the order of a few microamps. Feedback is
employed to improve the bandwidth, bias stability and noise performance. The
output Vo is taken at the collector of Q2. Notice that there is no load connected
to the output terminal. The transistors Q1 and Q2 have the following

parameters:

npn pop
Bac=Bac 150 60
Va 150V 100V
Cu 1.0 pF 0.7 pF

fr 400 MHz 50 MHz
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[image: image3.png]Make sure you clearly state and justify the assumptions you make in
arriving at your solutions! Hint: Consider where a load would be
connected to this circuit.




